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CERTIFICATE IN POULTRY FARMING (CPO 

Term-End Examination 

CO 	 June, 2011 
CD 
C:) 	OLP-001 : INTRODUCTION TO POULTRY 

FARMING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions only. All questions cam/ 

equal marks. 

1. 	Indicate true or false : 
	 10x1=10 

(a) Ducks are mostly found in the coastal states 
of the country. 

(b) Duck eggs are 15-20 grams lighter than 
chicken eggs. 

(c) Majority of ducks lays egg after 6 pm. 

(d) Turkey eggs weighs 3 times more than the 
chicken egg. 

(e) Jungle fowl is the ancestor of present day 

poultry breeds. 
(f) In Japanese quails, females are heavier than 

males. 
(g) Duck eggs have characteristic brown marks 

(speckles). 
(h) The condition of feathers often serves to 

indicate whether a bird is healthy or sick_ 
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) 	Upper portion of the leg of poultry is called 

shank. 

	

) 	Culling should be done at night to avoid 

stress and injury. 

2. 	Choose the correct answer (I ). 	 10x1=10 

(a) Hybrid layers of today lay on an average of 

eggs per year. 

(i) 250-280 
	

(ii) 180-200 

(iii) 310-320 
	

(iv) 280-290 

(b) are hardy, disease resistant, need 

low input and has ability to survive 

under poor management and feeding 

conditions. 

(i) Geese 	(ii) Chicken 

(iii) Guinea fowl 	(iv) Emu 

(c) Average number of eggs produced by a bird 

reared in backyard is 	 per year. 

(i) 	0-10 
	

(ii) 	50-60 

(iii) 200-250 
	

(iv) 160-250 

(d) The most profitable mixed farming system 

is 

(i) poultry-cum-fish farming 

(ii) duck-cum-fish farming 

(iii) poultry-cum-pig-cum-fish farming 

(iv) none of the above 
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(e) At least 	 % of employment in 

the poultry sector is generated by farmers. 

(i) 	80 	 (ii) 	40 

(iii) 10 	 (iv) 50 

(f) The plumage colour of new Hampshire is 

colour. 

(i) 	Yellow 	(ii) 	Chestnut Red. 

(iii) Black 	(iv) White 

(g) 

	

	 is a seasonal breeder and lays 

eggs between March and September. 

(i) Geese 
	(ii) Chicken 

(iii) Emu 	(iv) Guinea fowl 

(h) 

	

	 is the most popular and heaviest 

variety of Turkey. 

(i) 	Beltsville white 

(ii) White Holland 

(iii) Broad Breasted Bronze 

(iv) None of the above 

(i) 	During moulting, the feathers are lost from 

the 
	

first. 

(i) neck 
	

(ii) head 

(iii) body 	(iv) tail 

(j) 	A depth of  	fingers from the end 

of the keel bone to the pubic bones is 

associated with good rate of egg production. 

(ii) 	2 

(iv) 4 to 5 
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3. 	Define any five of the following in 1 or 2 lines : 

(a) Hen 

(b) Deep Litter 

(c) Pen 

(d) Nest Box 

(e) Grower 

(f) Fertility 

(g) Culling 

5x2=10 

	

4. 	Write short notes on any two of the following : 2x5=10 

(a) Poultry cooperatives 

(b) Classification of chicken based on place of 

origin 

(c) Factors affecting egg production 

	

5. 	(a) What are the advantages of rearing duck ? 	5 

(b) What is mixed farming system ? What are 	5 

its advantages ? 

	

6. 	(a) Describe the female reproductive system of 	5 

chicken. 

(b) What are the disadvantages of artificial 	5 

insemination ? 

	

7. 	Draw a picture of a duck and identify the different 10 

body parts. 

	

8. 	What is judging of poultry ? Why it is required ? 	10 

What are the characteristics of the birds to be 

accounted for judging ? 
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(114,7t)d qicli 14 ii-nut tn.  (**.Q,111.) 

79', 2011 

3.11c-1.111•.-001 : ct)ci-te. 41c11 	i tirEr 

7777 : 2 FITT 
	

7N42/4-/ 3-7.ch :50 

qtr./ TT . 	q'/FoN / 	 3-7:T el 

1. 	+Rid fT 	14A' : 	 10x1=10 

(a) '17143 .6-1f--111c-R t<11.  *   t I 

(b) 4tl1 	Tffcl;t1-,:.1114 15-20 TITR 

	 t.  I 

(c) 311i--lchcR 	Tfrq:  6 	'AK', .3-ft 	 

(d) 1711 	T-T-TT -4 3 ijitr ,34f-N1-) 

51-ft 	 :g 

(e) \71.410'1' 	ff (fowl), 11111 	 Tct7 

t I 

(f) Al'-114f Gq;!;1. 	 3-1f9-4* 	d 	I 

(g) T.-Rif 4)   ITT 1,1,c.h ;11'1.1.  9-17T 

(fiTt7T) 

(b) Ita (feathers) 	-7,77*f 3-1-4;97 	*-74T9--T 741 

t1417 	*1.  L4cif 	 t; 

(i) 	1),-41)(1 	HI 	417 	t A•q7 (shank) 

t I 
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(j)  

(Culling) (I{1 *741R-4 	311-(1 cf 	 I 

2. 	7gt 3714 (I) -c-TI:19. 	 10x1=10 

(a) 
	

wrzr c  1.-T-ft7 (Hybrid) 17F7 .14 

:-.4m7T9 	 3tt 

(i) 250-280 
	

(ii) 180-200 

(iii) 310-320 
	

(iv) 280-290 

Lilqui TTT

k1't- 

vr 	15).  3-Trm 	 4.14.14 

	

,iqcf -T14 ,--1151t 117 iff 41Fici 	7:1-  

t I 

(1) 	4 11A 
	

(ii) 	-r-P411 	 

(iii) flIfft 14;160 
	

(iv) 7„ 

yr,-14 cr trT1 	3 	c 	 if c 

734Tql-T 	 t I 

(i) 0-10 	 (ii) 50-60 

(iii) 200-250 	(iv) 160-250 

fi1T -M1-113-qff 	Tf411 fTR-d:371.  t 

(b)  

(c)  

(d)  

(i) 

	 c 	(1=Rzq 410-1 

(iii) TTEJ 1c -T-17 Ic  TR-TETI-110-f 

(iv) 3-971-Wf 
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(e) cc4 	f 6-1+11t T -9714 	 %, 

9tzi .g7T 	full 	ivn*I  

(1) 	80 
	

(ii) 	40 

(iii) 10 
	

(iv) 50 

(f) *1# 

(i) 	Tft91 	 (ii) 	.1171 T-11c4 

(iii) 	eb1(11 	 (iv) 	:-- 

(g) 	, T3HHT 	 

3ft#-d-rti 

(i) 	it :5-1 	 (ii) 	f-Fr*• .  

(iii) TIT 	 (iv) 	PI-11 Lh13(1 

(h) , 	<7.11-) 7-4NT 

TSf 	t 

(i) 	fici  	(ii) 	ia 	 

(iii) 	 (iv) 	-s-i-7.-4-wf 14 74 

(i) 
	

f914-7-1-1 (moulting)N, .475, .t-t4741:T 

t 

(i) 	,1 	 (ii) 	4.-1( 

(iii) 	 (iv) tiO 

(J) 
	

tcic-f (keel) eiE 	T.5)-7 	,3-1-1-1 6-1R-9-T dch 

	 AfM't 	TTU.1 111 7,17*TT 

f9Tfrura, :31- 774ti 

(i) 	1 	 (ii) 	2 

(iii) 	3 	 (iv) 	4 -4,4 5 
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3. 	fwt ITN ch 1 Trf 2 if-*Tzff if Li 	OTTFITff 	I 	5x2=10 

(a) 1j111 

(b) r11-1 

(c) -tmA 

(d) sic 

(e) 1j1.  317 

(f) -3-4-cd1 

(g) k-IAA ta-1 

	

4. 	fw-tt ITT 	14 -112. f-ffftr7 : 	 2x5=10 

(a) tic-tlf TFF*-It TrrTirff 

(b) T2Tri 	3111R ITT fqw9- =hl 14iii-ror 

(c) 71.1Trq7 	*Itch 

	

5. 	(a) 	GirRg 	 qzrr -g? 	 5 

(b)  	Thifi2trf #1t:ZI:f *41 ? 7:1-k 71.94 jai t? 	5 

	

6. 	(a) 	f- *-9 .c‘F 	 -PR-g 1111-ssl( I 	 5 

(b) -t-f714 	 rEf qtr ? 	 5 

	

7. 	GiT-RA -T1 rtiA 	3-17 	vt-T fa-FIT-?r W ct1 	10 

	

8. 	Tqzfa - 	(judging) *AI 	zff cif   10 

? mrfk-T-4f 	 r(--R 

-TTqr \Ant? 
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